124+a(a-1)+3a=0
@+ 2+ 1= (a+1? =0
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2-1-(-2)x-3=x2+2x-3

=(x+3)(x-1)=0
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a+b=3, ab=1°E2
L (@+b?)=(a+b)?*-2ab=3*-2-1=7
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D' =(k-a)?-(k*+b-3)=0

= 2ak+a’-b+3=0
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—2a4=0,a*2-b+3=0
a=0,b=3
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@ (x-3)(2x+1)
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® (x+3)(2x-1)
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@ 2 x+1—% x-1+ =
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a=2,b=-2,c=3
2+ VA—6 2+ 2 V2
X = =

=1+ —
2 2 2
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Vb2 - dac
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ax? + bx 4 c = 09| A T2 A=

-_7_01 ]H"I-Xq/}j'_,] :1.4 ;q__
V16 — 8k2 + 4k = 2

4k - 8k* +16 = 4

22 —k-3=0
(k+1)(2k-3) =0

Lk=-1EE
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(n—|— n(n—l))x2— Vnx—n=0
= A9 BA o utt
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an+ﬂn_n+ nn—1)
1
R e Gl
a1 +B1=V1-0

ay + B2 = ‘/_— ‘/T

@49 + Bag = V49 — V48

(01 + a2+ +au) + (B1 + B2+ + Pao)

= (a1 +p1) + (a2 +B2) + - + (a9 + Pa9)
=1+ (V2-1)+(V3- V2) +--- + (V49 - V4B)
= V49 =17




